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Section 1 - Paperl-English Language

1) Select the correct option.
Did you go to ----------- new Thai restaurant?

A) an

B) a

C) the

D) no article

Read the following passage and answer the questions

™ Techofworld.In

Comb honey is honey intended for consumption which is
stil contained within its original hexagonal-shaped
beeswax cells, called honeycomb. It is eaten as produced
by honey bees and has received no processing, filtering,
or manipulation. Fresh, new comb is sold and used intact
as comb honey, especially if the honey is being spread on
bread rather than used in cooking or as a sweetener.
Before the invention of the honey extractor almost all
honey produced was in the form of comb honey. Today,
most honey is produced for extraction but comb honey
remains popular among consumers both for eating 'as is'
and for combining with extracted honey to make chunk
honey. Hobbyists and sideliners can develop their
beekeeping skills by producing comb honey, which takes
more rigorous attention to beekeeping than the production
of extracted honey. Because of the more demanding labor
involved, comb honey has greater retail value than
extracted honey. ($17/pound compared to $6.50/pound
US). Comb honey production is more suitable for areas
with an intense prolonged honey flow from eucalyptus,
alfalfa, alsike, and yellow clover. Wooded areas are not as
suitable for comb honey production, as bees tend to
collect more propolis, making the harvesting of comb
honey more difficult. This problem has been largely
circumvented with the adoption of specialized frames,
such as the Ross Round frame, which prevent
accumulation of propolis on saleable units. Populous
honey bee colonies are usually reduced to single hive
body at the beginning of the honey flow when one or more
comb honey supers are added. Comb honey can either be
produced in wooden sections, shallow frames or Ross
Rounds. The successful production of comb honey
requires that the hive remain crowded without inducing
swamming. Young prolific queens help rapid colony
population expansion with less likelihood of swarming.
Caucasian honey bees are often preferred for their
tendency to keep a constricted brood nest and for their
production of white wax cappings, making more attractive
honey combs.

2) Chunk honey is made by

A) extracting comb honey from shallow frames

B) combining extracted honey and comb honey

C) collecting the honey flow of yellow clover plant

D) harvesting comb honey made by Caucasian bees

3) Caucasian honey bees are often preferred because
they

A) adapt quickly to Ross round frame
B) secrete top quality honey

C) don't collect propolis

D) don’t expand their brood nest

4) Comb honey is more expensive than extracted honey
because of

A) the comb shape

B) the organic value of comb honey

C) the hardwork involved in beekeeping
D) its chunkier taste

5) Specialized Ross round frames are used to

A) reduce swarming of the hives

B) prevent accumulation of propolis

C) provide favourable environment to the bees
D) help the bees to produce white wax cappings

TechoﬁNoﬂdIn

6) One of the uses of comb honey that can be used is?

A) Spice

B) Flavouring agent
C) Condiment

D) Sweetener

Pageiof22
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7) Find the most appropriate opposite meaning word:
ARTIFICIAL

nred [ @chofworld.In

)
B) Solid
C) Truthful
D) Natural

8) What is the plural form of Ox?

9) Find the most appropriate opposite meaning word:
COMFORT

A) Complacency
B) Contentment
C) Exhilaration
D) Agitation

10) Select the correct form of verb from the given options.

Speak up! | can’t hear you because your dog
too much noise.

A) makes

B) had made
C) made

D) is making

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

s

Section 2 - Paperl-Education and General Awareness

Techofworld.In

11) The University Grants Commission selected which of
the following departments as Centre of Advanced Study
In Education (CASE) in the year 19637

A
B
c
D

Faculty of Education, Gwalior
Faculty of Education, Bhopal
Faculty of Education and Psychology, Mumbai
Faculty of Education and Psychology, Baroda

11) GAUQ 6996 FaId § 6A9Q AT GRAQE IFE A

1g6ade (34.49.8) @ 6a 1963 Adel 6a gFeds gI9a
@028 FIal 999 QA AIRYRI?

A) THI9R, 2T 9g6RAR, 691I2IRN2IR

B) ciIoR 2 9geads, 6RIIR

C) QIad, 2T Ig6a9R A9 AREIIENIF, QIR
D) cryief), 2 996e9% 218 AR I6NIE, F6AIR

12) Which of the following systems of education, based on
the accepted structure of 10+2+3 was proposed by
National Policy on Education, 19867

A) Unitary system of education
B) Social system of education
C) National system of education
D) Primary system of education

12) 10+2+3 Qe AJ6a 2RIGS 7 AuQ 60a 8l Quedl
IARIM ORA BS 9geRAR, 1986 TRl JBIRG 6RIRYRI?

A
B

) SRR 999 yagl
)

C)
)

Bl

210 AR R
d91Q 1613 424l
D) daia gladfie syeql

13) The concept of a National System of Education
implies that, up to a given level,

A) all students, irrespective of caste, creed, location or
sex, have access to education of a comparable quality

B) all students, irrespective of caste, creed, location or
sex sometimes may not have access to education of
a comparable quality

C) all students, irrespective of caste, creed, location and
sometimes with gender bias, have access to
education of a comparable quality

D) all students, based on caste, creed, location or sex,
have access to education of a comparable quality

13) QIo10 881 QISIRT MIQEIR 21E, TAARLYSI 9@ 29 Adig,

A) QI8 6, 918 2291 AT FRCATER ANS BIRT IR PRATR
209 da dFaigae

B) @13, aF, 9i6 Zaiql e A6a96a AN BIGT 676 676]
2RI 300 Rl FRAIREeQ

C) @15, Ud, AR 9L° 606Q 6969 AT VUG FcIT6ER A1S
19T PP 9o FR AT

D) @15, a¢, QI8 2Rl A 2RINEA IS BIGT @ YRR
g9 dfl AFaIgae

14) The wire used to make the filament of a light bulb is
made of which of the following metals?

A) Chromel

B) Nichrome
C) Zinc

D) Tungsten

14) QUGS GRS TR CUT GAQI AR 609 UK GR
QUQTIR FAIAN?

A) 6q1601m
B) Qeqie1

o  Techofworld.In

D) ggrae
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15) The power of the Supreme Court of India to adjudicate
disputes between the Government of India and one or
more States or between the Government of India and any
State falls under which of the following jurisdictions?

A) Appellate Jurisdiction
B) Advisory Jurisdiction

C) Writ Jurisdiction TeChOfWO rld : I I

D) Original Jurisdiction

15) QIAG AARIQ @ 9@ QI AWYR AN 713 QI VR AARIR G
62164 QUIRY F1I6Q 8] FRIRQ TAAN AR TR VG AP
MIARAR 2 83 G 600 GAAGFR AR AIYR?

A) 2iId6ne gERGeR

)
) 2GAINGA AACIR
)
)

o

C) Q¢ §RQeeq

ZAFTIN 9O

O
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Section 3 - Paperl-Reasoning

16) The length of a box is measured as 25 cm instead of
40 cm. What is the % error in the measurement?

o= Techofworld.In

16) 92 QIF AIFQIQ Y2 40 6Q4F00 QE@6a 25 6A9AGQ 6alm
PEIAER | FIT6Q 6060 JTEIS Ginl 621N ?

17) Instruction:

In the following question, mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il.

4, if the question can't be answered at all.

How is Helena related to Abrian ?
Statement | : Bruce is the brother of Abrian.

Statement Il : Abrian is Helena's brother.

>

cm2z
NOA =W

o

17) Genelean FORe ga6a
1 5% R0g 93 6897 01894 | ALINY6R 94 29 S2ARAIQE
[

2 596 K03, 9T 6aen ¢18QY || AR6LIGER J4Q ARa TR
AIQE |

3, 4G @@ | 9e° || AL6LITER 99 188 TR AIQES |
4, A8 g9Q A80 6069 § GuIgIR @9 QT |

TG AL 6TEARIR AP Q& ?

agey | : 99, 2GRS AR |

ey Il 2IFUIQ 6228 66AI0 @Il |

A) 3
B) 1
C)4
D) 2

18) In a certain code language PLUTO is written as
1612212015. How can SATURN be written in that code
language?

A) 19121211814
B) 19121221814
C) 19120221814
D) 19120211814

18) 9@ AG] AEFER AT6a PLUTO q 1612212015 @16Q
CAMIKIRAN | 69F QABFER @EIER SATURN @@

6RNIAIRAGS? TeChofWO rld . I N

A) 19121211814
B) 19121221814
C) 19120221814
D) 19120211814
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19) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly

known facts.
ssements:—— Tachofworld.In
Some pebbles are rocks.

All the stones are rocks.

Conclusions:

I) Some rocks are stones.

Il) Some rocks are pebbles.

A) Only Il follows

B) Both | and Il follows

C) None of the conclusions follow
D) Only | follows

19) ReLdIanT 067 FUKINYQI ALY Agq @8 Had

QUAINE | ALEG GRS ARG LY 6Q1F AIFQIG AT
LG8 @ 21 AIREED FEIZSN GA0IQ §F CGlIKINeN | AR
Fedq aeg e o106 HeE fag, fuIAIRQl Had aug
6RGG1 ARIREIER KR TR 2KXRR FRER| 184G O]
@I6S 298 P98 |

894 08 C2age 6998 ARl 49 I 9Ee 6298 92a |

fad:

) a8 gae GJ_@G‘ 6968 2l |

Il) @8 Q20 gae 626l 92agd |

A) 6aaR Il AGa08 K03

B) a@g 1 9e° 1l 29204 993

C) 6al6d @ Fad g 29908 /93 717
D) emaw | 29904 @0g

20) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some bulbs are lights.
All the fans are lights.
All the lamps are bulbs.

Conclusions:

1) No lamp is light.

II) All the bulbs are lamps.
1) All the lights are fans.

A) Only conclusion Ill follows

B) None of the conclusions follow
C) Only conclusion | follows

D) Only conclusion Il follows

20) F624I9Q1: G6R SRS F8SY 08q A8 Fad GIAIRE |
2Idg QULIRLS! (1894 A5 61N FIRIg 969 AT8 G 1@l
ARINEES FENRIR| SAY0IQ G 6L | AL Fadq 0eg
48 QIU6Q FR G2y, GRIKIRSI Fad FQ 68E6T ARSI
61281 S249 ARAIREG KRR F18RYg O] RIS 2GIRE 99T |
F18QY: @8 oG Joa 6208 AIeG | 99 THIS JoR 6268 MRS |
Qg MUKt Qo@ 6208 ana |

fad:
1) 65190 RUIA ARG GEL
1) 9g 9NQ g@@ 6298 MIag

) 298 ARG gea T |

Techofworld.In

A) caeq dad Il 25908 @99

B) 6qled @ fadq 29904 RagIE
C) caaq Gad | agaed @eg
D) saee Gad Il 29968 @93
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Section 4 - Paperl-Teaching Aptitude

Techofworld.In

21) What is student centered approach to learing?

A) teachers play an active role in the learning process.

B) teachers and students play an equally passive role in
the learning process.

C) teachers and students play an equally active role in
the learning process.

D) teachers and students play minimum role in the
learning process.

21) QIR BIQ 6FGR AR FEl ?

A) G986 gRaIee S99 AG< Al 6969

)
B) d@¢ g9@ae S8 6 8188917168 AR A80 @fiel 656
C) 584 gawiea d9a B FIGRITIIER AR Aa% PER 6569
D) dm¢ g@oies Sise G 2IgaIgiFIes ARGY @fial 6969

22) Who pointed out that due to varied circumstances and

privileges children show differences in performance and
achievement?

A) Rousseau
B) John Dewey
C) Aristotle

)

D) Pestalozzi

22) @4 QEIRgen 69 F0e 0REAE 6 gRIQeaIS 6aI dmiFIeR
gada 8 ATRTIER TAR CIHIRAIE ?

23) Which of the following terms can be defined as the
ideas that a person or a group believes to be right or
wrong, good or bad, attractive or undesirable?

A) Behaviour
B) Norms

C) Culture

D) Values

23) 59 IRIART FIQ 694 AIREE QUISH QR 69 691G A&

Q1 655N 641915 0R @ g, R 9 YIT, ARTE1E QI 2915
&6e?

A
B

) 299
) Qg
C) aeai
D) gmucanr

24) Which of the following is NOT one of the foundational
skills of language (English) learning?

A) Understanding
B) Writing

C) Listening
D) Reading

24) G611 AR 6290 I8l (R°QIF1) FAIQ 6F1Aw 6alam ge?

%ml'TechoﬁNoﬂdJn
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25) Which of the following statements is TRUE with
reference to the aims of education under democratic

political system?

A) To develop self-realisation or unfolding of the

potential within the child

B) To enable the individual to control his environment

and fulfil his possibilities

C) To develop full personality of each individual,

irrespective of caste, creed, class and religion

D) To enable the child for self-expression or self-

Techofworld.In

25) 64 Q2T CAINCIAR AIFETER QIR Zade dal @

gratification

QR4 @ eER A0R 26S?

A) ORI NEEQ QITIR FFIG| § 996 @¢l F6% 984 @ AxIE @S|

B) Qi3q 50q agUI90d @ FOAs A%l 8 ORI AR J7
g9l A8R16Q AV AR

C) g1, a8, a4l 8 2 FG6as 6Q geeia 18 «a g4 S1age
Iede @8Q!

D) dRl g 2I9-28943 @9 219998 K891 IR AVF KRS

26) Which of the following skills are NOT related to Life
skills?

A) Social skills

B) Emotional skills
C) Memory skills
D) Thinking skKills

26) GPAUQ 696 QBGI V17 QVCIGER ATG A GER?

A) AIIGR QB!

B) auqi6ea @a0!
C) q6e agIn @0
D) ideia Qs

27) Which of the following rules is included in the rule book
for Primary students?

A) Do not eat, spit or litter in the classroom
B) Complete the work on time
C) Cooperate with classmates and teachers

D) Accept responsibility of grades and other
consequences

27) gefie GQUdINIes dIR A7 690 AaF A9 gIw6a
2999 QARG

A) 6g41526a SliRIg Q1T 680 ARIG AIE QI 2F2 Qg AIF
B) 0% anges @19 AI0g

C) Q2101 8 UIINIRE ARCAIC G0F

D) 6g@ 6 2a4 AR9IFgEae QIfa ged 99

28) In a very typical situation, the child kept blaming others
for all the mischief he had created. This kind of
psychological adjustment mechanism is called

A) motivation
B) refusal
C) projection
D) denial

28) U@ G4Y 2QI6R, Fea 9eAIA1 AIR ORIT ARUAIRE 6419
G4 1 98 gRI0R FIRgIde AN6LIFS AR4Ig 98 QRIKN ?

A) 6gedll
B) agiqia
C) 2@eaas

D) gevisiie TeChOfWOI'ld 5 | n

29) Which of the following agencies of education helps the
child for its full physical growth and motor coordination
through proper food, nutrition, health habits, exercise and
immunization programmes?

A) Library

B) Radio

C) Home

D) Newspapers
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29) dAIQ F67ID AYVAYER RIQ 6246 AAYS HIY, 634,
IR, AT IS° FRINRE QINIFA PR TRl F99 I
FIQIRR RIS IQ° IERY] JAd FARIER ALY KRRN?

A) Ql0IQIQ

swe | echofworld.In

C) ge
D) aqeag

30) To get any school information a U-DISE code is used
in India. What does U-DISE stand for?

A) Unified District Information on School Economy
B) Unified District Innovative School for Education
)
)

C) Union of District Important Society of Education
D) Unified District Information System for Education

30) QUOGER 6A6@IT YR IR VIR AR IL° G-L2ARIIR

(U-DISE) 6218 Q499¢ @M g-22Iadaa (U-DISE) @@6m
Q'§l QEIN?

A) gATNG 38Q RATEYIAR R IM FERIEHE

)

B) QG0N G8Q R6RI600R IQ 996R9R
)
)

O

geaR AT 28q AEAICIS 6ARING TQ 9F6Rd]

D) g@arng 68q araerian das o ¥g6ad]
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Section 5 - Paperll-Odia Language

31) BIRYS FQ 699G AERIGILY F6ESY 26T ? 36) AINYE FUQ 626E 8 9w §gI2 ?
ne [echofworld.In M e
B) daa B) aiaq
C) eclad C) ga
D) Gauiee D) &ae
32) ‘DIgea 66502 88l AIJFRI- ghta 28 @' ? 37) fgage fuQ Ge USRIl IRty 912 ?
A) 6aia GG 629! A) aga
B) Qa1 @ig@al B) zqar
C) cae saud 623l C) aee
D) @ G&a D) cieeg

33) ‘enas’ QRda 2d @'d ? 38) ‘%' B' Q' FONYS TP 68F IR AHD?

A) 99 @de!

A) 289Kl

B) gaea 2de @dQl B) aeigig

C) @ @18 C) acals

D) g1 edal D) zeais
34) 9Q QA I AR @ 212 gLl ? 39) AALFR 646 @2l 28 | FINYE g g A0R §

ol F 19 48 @9 |

A) 2igal

B) ggiedal A) gael

C) aI@a B) @igal

D) aidal @Gl C) agal

D) gmel

35) '20Q" 906 69 dIF 3 6@9 goYAq 69a G0 621987

40) GORYE FIQ 626T 2IFH 226 YRS ATAS ?

A) Qo+GI+2)

B) 9@+ e Techofworld.In
C) ga+a+a B) a@

D) g+@+@ C)gé

D) a&
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41) FORYS 69Q 69 ‘Af AAAS 6268 G10S ?

A) qol

S Techofworld.In

C) aagq
D) gedie

42) ‘6019 989 2 /'€ ?

43)' Qle' @ 6Q 99 99 AR A4 |

A) cai@

)

B) i@
C) qai
D) i@

44) GORE FRIQ 6QEE IR 050G 40 ?

45) ' Q44IR1 - A2 PP QPR FEIW Q FIT QIR FEINY @4
629 ?

A) 624l

B) qa1

C) agay

D) aieie
TAI\L\A'F\A!I\IFIA IY‘\
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Section 6 - Paperll-Mathematics

46) What is the value of Y457967

»»¢ Techofworld.In
)
)

46) V45796 Q MY 68657

A) 214
B) 116
C) 216
D) 114

47) A dishonest dealer declares to sell his goods at cost
price. But he uses a false weight and gains (300/47) %.
For a kg, he uses a weight of

A) 900 gms
B) 960 gms
C) 940 gms
D) 920 gms

47) @66 2Qk| QISAIX Fx AINGIG F€l QFER A7 FRAR
CEITEI RQ3| @G 64 Y FaN BFQ QLLIQ FG3 1e° (300/47)
% AIN Q3| 66151 60 A0 69 NILUR AR BFF 6298

A) 900 gl
B) 960 glif|
C) 940 giq
D) 920 g1

48) If A = {3,7,9,14} and B = {3,7,9,14,28}, then which of
the following is true?

48) 9§ A = {3,7,9,14} 6 B = {3,7,9,14,28}, 666 &¢ aQ
600G 0R?

A) BcA
B) AcB
C) A=B
D) A¢B

49) If x+ y=4 and 2x - y = -1, then the value of x, y are

A) 1,4
B) 1,3
C)41
D)15

49) 9@ x +y =4 and 2x-y = -1, 666Q x, y @ Fa 628

A) 1,4
B) 1.3
C) 41
D) 15

50) Ananth and Benaka enter into a partnership and
Ananth invests Rs. 10,00,000 in the partnership. At the
end of 4 months he withdraws Rs. 2,00,000. At the end of
another 5 months, he withdraws another Rs. 3,00,000. If
Benaka receives Rs. 9,60,000 as his share of the total
profit of Rs. 19,10,000 for the year, how much (in Rs.) did
Benaka invest in the company?

) 10,00,000

mesoc 1 €ChOfworld.In

C} 9,00,000
D) 12,00,000
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50) 203 Y9° 699 Y@ AUNIFIRAIER J6QE Q6 I9° 2R3 196R
Rs. 10,00,000 88sQI5 @RIl 4 A1 6486Q 62 Rs. 2,00,000
21el goUIRI QR 999e 561 J69 64 2R Rs. 3,00,000 o
gougia Rl 9F 6496 6969 AL AR Rs. 19,10,000

IR G8 @I Rs. 9,60,000 IR 6562 6909 QTSR 6060
(Rs.6Q) 83610 @Ml ?

A) 10,00,000
B) 8,00,000

aswon | @Chofworld.In

)
)
)
D) 12,00,000

51) After simplification, the expression 6(m — 3n) + 3m(n
+ 5) — 2n(3 - m) simplifies to

A) 19m+21n-6mn
B) 19m+22n-5mn
C) 24m-21n+5mn
D) 21m-24n+5mn

51) AORIRAE 626! 96, IAIRAE 6(M - 3n) + 3m(n + 5) -
2n(3 - M) @ ARFIYE G 629

A) 19m+21n-6mn
B) 19m+22n-5mn
C) 24m-21n+5mn
D) 21m-24n+5mn

52) If loss is the 1/3 of selling price of an article, the loss
percentage is

A) 20%
B) 33.30%
C) 10%
D) 25%

52) 9@ 6615 NG 1R F @0 1/3 A& 6669 Jo0 9590 6998

A) 20%
B) 33.30%
C) 10%
D) 25%

53) The vertices of a triangle are A (-2, 3), B (2, 1) and
C(1, 2). The centroid of the triangle ABC is

A) (2,3)
B) (2/3,2)
C) (1/3,2)
D) (1.2)

53) 9@ 0@ Q 6216 @@ A (-2, 3), B (2, 1) 8 C(1, 2) 263
G9e ABC 9 6059 263

A) (2.3)
B) (2/3.2)
C) (1/3,2)
D) (12)

54) Let N be the greatest number that will divide 305, 665
and 905, leaving the same remainder in each case. What

is the sum of the digits of N?
A) 4
B) 5
C)6
D) 3

54) 9@ 305, 665 9a° 905¢ GRITS KPR 9LEF A6l N ¥e°
2l g6oia 6AG6Q AR QI QeI QI 626m N
UYEaq 908 6657

A) 4
B) 5
C)s

ns 1 echofworld.In

55) If two sets L and M have 1 and 2 elements
respectively, then what can be the minimum number of

elements in their intersection set?

A) Two
B) Four
C) Zero
D) Three
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55) 9% Q@6 6Q6 L B M @ Q2196 1 8 2 § @aI9Ie &8,
EAFIRET 689 6460 AFRCIER 6R65IT AUIGIR QEUI6e?

A) 9@
B) oid

@«  Techofworld.In

D) &&

56) Surface area of a cuboidal container with dimensions
78 cm x52 cm x62 cm is

A) 23232 cm?
B) 26232 cm?
C) 24532 cm?
D) 24232 cm?

56) 78 627 x 52 6Qf1 x 62 621 LQIWEAGR &/ U@ AFIGE A9
Q AQ6TY 693G _ 6s|

A) 23232 6afi?
B) 26232 safi?
C) 24532 safi?
D) 24232 62

57) What is the diameter of a circle whose area is 161
sq.units ?

A) 5 units
B) 3 units
C) 8 units
D) 4 units

57) @ 9@ Q Q41 6@6Q T LILIQ 6AQTH 16T Q4 gae
26e"?

58) The lowest common multiple and greatest common
divisor of 24, 36 and 40 are respectively

A) 480 and 6
B) 360 and 4
C) 120 and 6
D) 240 and 4

58) 24, 36 ¥@° 40Q RAF ARIQE SR YS° SI6F ARIAS
QIR IoR DRGEF

A) 480492°6
B) 360 99° 4
C) 120 9e°6
D) 240 4e° 4

59) The ratio of marks obtained by Anand and Banu is 6 :
5. If the combined average of their percentage is 68.75
and their sum of the marks is 275, what is the total marks
for which the exam was conducted?

A) 100
B) 500
C) 200
D) 300

59) 2ige Y& 9F dINYQl fYQ AQUIe 65| 99 eQdART
J290Q {Re QIR 68.75 ¥e° 6FlRw QYee da§ 275,
6069, VALIRG 6aINIS! RIFQ AU IS 6967

A) 100
B) 500
C) 200
D) 300

60) A square with a side of 2 m has a circle inscribed in it
and in turn this circle has a square inscribed in it. If this
square also has a circle inscribed in it, what is the area of
the second circle? (Take M =22/7)

A) 11/28 sgq.m
B) 1sg.m

C) 22/14 sq.m
D) 1114 sq.m
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60) 2 {i5Q Q14 SFY 63T AF6RG EP6R IR 9R ARG 62IRT
Q° Y2 98 GI06Q IR QUERE ARG 6QIRE | 96 @ QJ6Rg
ClIEA IR 9 UFTQ 62I9F 606Q FO10 QRACISTR 60697 (I
=22/7 QU6 F2])

mmeinea 1 E€CHOTWOrId.IN

B) 1 qd figa
C) 22/14 @4 g
D) 11/14 a4 fgQ
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TL=JWIC-ZU 1Y DdIVIL) LA LL LU Vdla

Section 7 - Paperll-Social Science

61) Krishnadeva Raya, the most famous king of the 63) F69)I9 FlUIQ 6R49 ZICRIRE AR Aeg AR 6991 AIR
Vijayanagara Empire belongs to which of the following

Dynasty? SlIe1 gQ aGelem?

A) Saluva TeChOfWO rld . I n A) YRTS

B) Aravidu B) 2i10e aaiey

gi ijﬂiaama C) gaigy ZIcalee
D) zagsaig

61) FRAETQ AFISIR AF0IQ FHIG AR IS QUL F67IB

ARIQ 684 QIRS°E AT A°YS 26R ? 64) Which of the following layers of the Earth is made up
of rocks in molten state?

A) aig@l A) Outer core
B) aieidg B) Crust
C) agrell C) Inner core
D) Mantle
D) gqe }
64) G6)I9 F1UQ 609 2 FaR ALIER Y9I TR TRl FAUR?
62) Where is the Tropic of Capricorn located?
A
A) 23.5°S of the Equator ) Q124 6259 28R
B) 23.5°W of the Equator B) gaq
C) 23.5°N of the Equator C) @@Q GQQQ 2180
D) 23.5°E of the Equator
D) aigieg

62) ARG 6RE0KR 2SEe ?

65) At which point on the Earth the distance between two

= = i meridians is maximum?
A) 39 6a8IQ 23.5 &g <Rgea
B) 39% 6q¢lia 23.5 @91 0daea A) Tropic of Cancer
C) 599 6098 23.5 391 98AEa B) Arctic Circle
El ' § C) Equator
D) 3g< 6asiin 23.5 891 gI6a D) Poles

63) Which of the following movements did Gandhi decide 65) QIR 694 ARER 9RE AUAR 60%I FER QA AR
to support with the Muslim league?

216e'?
A) Khilafat Movement

B) Civil Disobedience Movement A) aR69I3 TeCh OfWO rl d i | N

C) Swaraj Movement

B) aqesaq
D) Non-Cooperation Movement

C) Gge cagil
D) eq1Q

Join Us-
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66) Which of the following options is the lowermost layer
of the atmosphere?

g Stratosphere TeChOfWO rld - I n

C) Troposphere

)
) lonosphere
)
D) Mesosphere

66) FORge SREgEe AUQ 6RAT AIGALRR ASGE) 99 26T
2

WtsApp/Call- 8596976190

68) G6ClBFInG F1UQ @ 6968 F1a1 IRIGER G668 A1R1T OUR
FOE ¥e° OFQ KRR 30 9eE?

A) Q96

B) auigad

C) quienar
D) ea-aigad

69) "Suspension of fundamental rights during emergency"

_ of the Indian constitution is borrowed from which of the
A) gl6eReQ following countries?
B) ala6e@9Q : ;
N A) United Kingdom
C) gsaidoq B) United States of America
D) sq16ai@aQ C) Germany
D) France
67) Which of the following dynasties succeeded the Slave
Dynasty? 69) QIOGIR ARINER ‘FRAINIAE AGETER 6IRR IR
QIGR” GRS 694 C1IQ RILIQ AAXIGQ 2GIAIRE?
A) Mughal kB 2 2
B) Rajput
A) geaisy
C) Afghan L N
D) Khilji B) geqig Zicraal
C) adiign
» . - D) gq
B7) Q6LlIa F1UQ 609 ARI°E QILQ°E TEQ 2IQEMI?
A
) 668 70) Name the trees which are worshipped by the Mundas
B) ARYS and the Santhals of Chota Nagpur region.
Cc
) 2ITeIR A) Mahua and Kadamba
D) gm&@

B) Bel and Ashoka
C) Tamarind and Mango

D) Neem and Banyan
68) Who among the following decides the selection and

tenure of a minister in the Council of Ministers at the

2
oentre: 70) 6819 QIOge 2ER6q €8l 8 dIBIRFIEE dF @@l
A) Speaker BP0 Al D€l
B) President
C) Prime Minister
)

D) Vice President

nemowq | @CHOTWoOrld.Ir

B) cam 6 asdia
C) 60ga G 2Ig
D) 5q Gea g
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71) The shape of the Earth is

mors | @chofworld.In

B) Oblate spheroid
C) Round
D) Perfect sphere

71) F6QI8 AP 664G FaUR1R AIGH ?

A) Q@

B) afig ealniaia
C) saRIRIa

D) g4l sqInueia

72) How many Indian states have Legislative Council as
on January 20197

A) 6
B) 5
C)7
D) 4

72) 900¢ FIQEIN I 6R6CIT NAGIS QURYER e AT
ag?

A)6
B) 5

C)7
D) 4

73) Who among the following was elected as the
permanent chairman of the Constituent Assembly?

A) B.L. Mitter

B) Dr. B.R. Ambedkar
C) Dr. KM. Munshi

D) Dr. Rajendra Prasad

73) GAmGo g QILiq ARG ARl § DI AU QIRER GAR
RAARERI?

A) @ 9. figq

B) ¢. §. &I9. 2I6geaa
C) ¢. 62. €. 9@

D) @. alegg gaie

74) Which among the following options is an example for
community owned resource?

A) Farm lands

B) Houses

C) Burial grounds
D) Plots

74) GORYE AUQ 63% JRIAR AR AYRIA 2GS AR @
Q01204 26 ?

A) g8 6ag

B) g

C) qieaga g9
D) qial

75) Who among the following freedom fighters led a team

of revolutionaries to raid a Chittagong Police Armoury in
19307

A) Basant Kumar
B) Surya Sen

C) Srendranath
D) Amirchand

75) Gande fug @4 QBRI JIeea 99 9@ q 1930 6a
OREdIF 6DIRA Q SYNQER 1T AIRZEM?

A) Qag QaIa

mae | @chofworld.In

C) geagaiel

D) efiegi@
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Section 8 - Paperll-Science

Techofworld.In

76) In which of the following habitats, will plants usually
have spines instead of leaves?

A) Mountain Region Habitat
B) Grasslands Region Habitat
C) Desert Region Habitat

D) Aquatic Region Habitat

76) fAAUQ 694 AIRIAER, ARVFERER AXIGSS TG F@RER
@ 9Z2INg?

A) aeie a1ei
B) ciea9f 2ieia
C) aged zieia
D) ee1a 2ieia

77) A rod of mass m and length | is made to stand at an
angle of 60° with vertical. Potential energy of the rod in

this position is
A) mgl

B) mgl/3

C) mgl/2

D) mgl/4

77) m 9gQ 9° | 654 984 9@ 89 QKA 60° 6RIG6Q

QgliomIl 9T 956q 29a 80 €@ 62aE

A) mgl

B) mgl/3
C) mgl/2
D) mgl/4

78) Lysosomes originate by budding off from the
membrane of

A) Golgi Complex

B) Nucleus

C) Endoplasmic Reticulum
D) Mitochondria

Join Us-

78) QIRGAGRIF 609 TRIQ QI2IGeINM?

A) GG K68

B) quqaa

C) wsaiqefia caggma
D) cigseiedgel

79) When adaptation becomes functionless it is usually
known as

A) Vestigial

B) Acculturation

C) Co-adaptations

D) Exaptations

79) 6KI6G6R6R 2R QI GG 90 QAT GIRIg ARIGSIGS
QE gRIFIN?

A) cadGa

B) zienceaae
C) exl-aIg6q9a
D) «gieqae

80) A body is thrown vertically upwards with velocity u.
The distance travelled by it in the fifth and the sixth

seconds are equal. The velocity u is given by (Given, g =
10m/(s"2))

A) 100 m/s
B) 25 m/s
C) 50 m/s
D) 75 m/s

80) 9@ Qg U 6996Q TIRINER QUG FHGR | Q8 9e° §F

646Q€eq 9% FI a@@ﬂ @RUAIREQ QAL QAR | 696 U
6208 (99, g = 10m/(s"2))

A) 100 m/s TeCh Ofworld . In

B) 25 m/s
C) 50 m/s
D) 75 m/s
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81) If a plant is placed in water and kept under sun,
bubbles of a gas is formed. Identify the gas formed.

83) AP 6296 FAIAR ETAR UK QRILAE?

A) Oxygen Te C h OfWO rl d . I N A) gEvRed 916l GReR 6RURINGER ATVSR

B) Carbon dioxide
C) Carbon monooxide
D) Nitrogen

81) 9@ 6016 QBT 7% §ivea GdY 967 QHIAN, IR AYAR
6TITRIGEe 98 99| 69 QHIAT @€1?

A) 2o@ie

B) agiaai],

C) qQIae A6RIgIeE
D) aegiegie

82) Which of the following organisms do NOT have well-
organised nucleus and lack nuclear membrane?

A) Streptomyces
B) Plasmodium
C) Amoeba

D) Paramecium

82) GeIFQ 69 AR ¥R 206 GIGRA FalN 6 QR
SR QAmE [aN?

A) 686QFIR6AQ
B) qiesqiG@as
C) 9éia

D) aiiendzia

83) Which of the following is an example of displacement
reaction?

A) Decomposition of silver chloride by sunlight

B) Conversion of lead nitrate into lead oxide

C) Reaction of iron nails with copper sulphate solution
D) Conversion of limestone into quick lime

B) A& QIR680 Ae 29190q QaFQ
C) Q2 9910 2UQ ANCTT & AFE gL
D) QIiareaie 89 RIff6ea 9GFa!

84) Maximum density of H20 is at the temperature of
A) 39.2 °F

B) 4 °F

C) 42 °F

D) 32 °F

84) 624 QIIFIGIEA HO Q 99Q AT

A) 39.2 °F
B) 4 °F
C) 42 °F
D) 32 °F

85) MRSA is a cause of staph infection that is difficult to
treat because of resistance to some antibiotics and is also
known as superbug. What is the full form of MRSA?

A) Methicillin-resistant Streptococcus aureus
B) Methicillin-resistant Streptococcus agent
C) Methicillin-resistant Staphylococcus aureus
D) Methyl-responsive Staphylococcus aureus

Techofworld: n

85) FIZIeNQY YIT A°GAE 641G 6NN AL FFA KEa
QERA Q0 @F FEQLATE gE gPear Q@a 8 welg
QUeQ9 FIxl QRIAN | AN @ AAE QIF [€1?

A) 602dRR-6ERIL 6REYCRIRY AR
B) 602dRq-600214 686Q6RINT U6RS
C) sro@Ra-cofar aFensalad aaaa
D) 671030692070 ITERERINY 22
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86) The breaking stress of wire depends upon

88) 150 m §igQ @1d 9@ 689 10 M/s 6996 ALQg ARE |

A) length of the wire TeCh OfWO I’|d . I n Q6 21gg 5 M/s 6596Q RF Y 1@ F2 6807 2GT7 98

B) material of the wire
C) radius of the wire
D) shape of the cross section

86) 010 FEQIR QI 7F) AUQ VT AUCR FRA FEQ?

A) QI0Q g

B) ciaq akigt

C) clea QuaIF

D) g2 sagaa 2I9ia

87) Rays from the sun are focused by a lens of diameter
5 cm on to a block of ice and 10 g of ice is melted in 20
min. Therefore the heat from the sun reaching the earth
per min per sg.cm is (Latent heat of ice, L = 80 cal/g)

A) 0.51 cal em? min™
B) 4.08 cal cm? min™
C) 2.04 cal cm? min™'
D) 3.02 cal cm? min

87) & 5 697 QIR J8% 6aQ TGl YLIT @Rl 9@ QRTHE
QU6 6RLG QAIGIRI98° 2005664 10 GiF SRET QAR 666Q
929199 g8 @96l eaea gf {iRgea ae8aql gdie S1a
6208 (QaCra 99 @19, L = 80 QuI6RIaN/g/I¢1)

A) 0,51 cal cm: min:
B) 4.08 cal cm: min
C) 2.04 cal cm: min

D) 3.02 cal cm: min

88) A 150 m long train is moving to north at a speed of 10
m/s. A parrot flying towards south with a speed of 5 m/s

crosses the train. The time taken by the parrot to cross the
train would be

A)10s
B) 25s
C)15s
D)5s

16697 2557 *R9I AInl g2l 919l FUKAIRYS ATD 6208

89) Which of the following diseases is NOT caused due to
fungal infections?

A) Candidiasis

B) Otitis Media

C) Ringworm

D) Histoplasmosis

89) GAIAQ 699 6QIS 9P AGFIEIQ IR

90) Which among the following options is the actual site
of light reaction in the process of photosynthesis?

A) Golgi Complex

B) Stroma Membranes
C) Chromoplast

D) Grana Membranes

90) FOMRIQ 674 G398 6268 ERIG AEYIT JTUER 6P
gogeia Q12 aIe?

A) aRd Q68g
B) eqicn @m
C) sgleauq)e
D) giel &1

Techofworld.In
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Answer Key

L. O 3l
2. B 32.
3. D 33.
4, C 34.
5 B 33
6. D 36.
7. D 37.
8. B 38.
9. D 39.
10. D 40.
11. D 4lI.
12. C 42.
13. A 43.
14. D 44.
15. D 45.
16. D 46.
17. D 47.
18. D 48.
19. B 49.
20. B 50.
21 ¢ &l
22. A 52.
23. D 53.
24. A 54.
25..C 923
26T ™ 56.
ZD S7.
28. C 58.
29. C W
30. D 60.

>

QOO @EGYPRPOUOODDODETOIBEOPPODEBOPOODOEOOPEO

61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
7l
72.
3.
74.
19:
76.
{5
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
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